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Q.No. 1: The first two items of each of the fallowing questions'bear some relationship. Discover that
relation and on the basis of those relations, pick up one item from choices which bears the same
relation with the third word.

DRIFT: SNOW :: DUNE: ?
A) Rain
B) Hill
C) Sand
D) Sweep

The correct answer is option (D). Dune is formed by sweeping of sand. Drift is movement of Snow and
Sweep is movement of Sand. Hence, option (D) is correct.

Q.No. 6: Find the answer choice which gives the same relationship as is found between the two terms
to the left of the sign.

27585647
A) 8
B)=232
€} 64
D) 16

BB =00 BI= 271,65 859°27
4x4=16 >16x4=64ie.4 16 64

The correct answer is option (D) 16. The relationship between 23 and 3 is shown above. A similar
relation is seen between 64 and 16. Accordingly, the answer key has been revised.

Q.No. 12: Find the missing numbers.

T B R TR )
A) 12
B) 6
C) 8
D) 7

The correct answer is option (D) 7. Prime numbers series 2, 3,5, 7, 11, 13, 17, 19 etc. Accordingly, the
answer key has been revised.

Q.No. 180: Choose the word nearest in the meaning (synonyms)

To object
A) Disapprove
B) challenge
C) deny
D) disobey

The correct answer is option (B) Challenge. The most appropriate and nearest synonym to the word
‘To object’ is Challenge. Hence, option (B) is correct.



